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Who is the chief guest of Republic Day 2024 celebrations?

(a)
a) French b) Russian c)British Prime | d) Israeli French
President President Minister Rishi | Prime Minister | President
Emmanuel Vladimir Putin | Sunak Benjamin Emmanuel
Macron Netanyahu Macron
What is ‘Juice Jacking’, recently seen in the news? (b)
a) Drugs b) Cyber attack | c) Asteroid sv)eed Invasive Cyber attack
What is the theme of the Nobel Prize 2023? (b)
a) Truth, Trust, b) Truth, Trust, c¢) Truth, Trust, | d) Truth, Truth, Trust,
and Help and Hope and Honesty Trust, and and Hope
Health
Election Commission launches .......... to facilitate easier voting for (b)
Persons with Disabilities and to avail facilities at Polling Stations.
a) Sahara App b) Saksham | ¢)  Divyaang | d) Madad App Saksham
App App App
Match the pairs:
A. Football i. Rinku Singh
B. Cricket ii. Kishore Jena ©)
C. Chess iii. Sunil Chhetri
D. Javelin iv. Rameshbabu Praggnanandhaa
a)A-iii, B-ii, C-i, | b)A-iii, B-i, C- | ¢) A-iii, B-i, C- | d) A-iii, B-ii, | A-iii, B-i, C-
D-iv ii, D-iv iv, D-ii C-iv, D-i iv, D-ii
Who is often referred to as the "Father of Modern Physics" for his b
ground breaking contributions to the field?
a)lsaac Newton | b)Albert c¢)Galileo d)Nikola Tesla Albert
Einstein Galilei Einstein
Match the following explorers with their respective discoveries: c
A. Marco Polo 1. Discovered the sea route to India
B. Vasco da Gama ii Explored the Himalayas and
climbed Mount Everest
C. Christopher Columbus | iii Travelled extensively in Asia
and documented his experiences
D. Sir Edmund Hillary iv Reached the Americas in 1492
a)A-2 b) A-1 C)A-3 d)A-4 A-3
B-4 B-4 B-1 B-2 B-1
C-1 C-2 C-4 C-1 C-4
D-3 D-3 D-2 D-3 D-2
The Amazon River is the longest river in the world: a
a) True
b) The Nile River is longer
c¢) The Yangtze River is longer
d) The Mississippi River is longer
a)b [b)a B [ d)c True
Assertion (A): Mahatma Gandhi played a pivotal role in India's a

independence movement through non-violent resistance and civil

disobedience.




Justification (B): Gandhi's philosophy of Satyagraha inspired peaceful
protests and led to significant social and political changes in India.

a) Both A and B | b) Both Aand B | ¢)A is true, but | d) Both A and | Both A and B
are true, and B is | are true, but B | B is false. B are false. are true, and
the correct | is  not  the B is the
explanation of | correct correct
A. explanation of explanation
A. of A.
10 | Which Indian state is known as the "Land of the Rising Sun" due to its a
geographical location in the easternmost part of India?
a)Arunachal b) Manipur c¢) Nagaland d) Mizoram Arunachal
Pradesh Pradesh
11 | Ram, Dhanram, and Tilak can do a piece of work in 20, 30 and 60 days d
respectively. In how many days can Ram do the work if he is assisted
by Dhanram andTilakon every third day?
a) 11 days b) 14 days c) 12 days d) 15 days 15 days
12 | Find the missing element in the series given below: b
ABD EFH IJL MNP QRT ?
a) UVF | b) UVX | c) UVL | d) UFX UVX
13 | Statements: d
I. Some pictures are roses.
II. All roses are trees.
Conclusions:
I. Some pictures are trees.
II. At least some trees are roses.
a) If only|b) If only|c) If neither|d) If both If both
conclusion I | conclusion 1II | conclusion I or | conclusion I or | conclusion I
Follows Follows II Follows IT Follows or II Follows
14 | Fill the blank in the middle of the series. a
ELFA, GLHA, ILJA, , MLNA
a) KLLA b) KLLD c) KLLB d) KLMA Answer
15 | Fill in the Blanks. d
Isawa ...... of bees.
a) group | b) herd | ¢) flock | d) swarm swarm
16 | Choose the correct sequence for following jumbled phrases/sentences:
“which is stored in batteries (R)/ that feed the electric motor. Driving
an electric vehicle is easier and more relaxing than a traditional d
one(S)/The electric vehicle uses electric energy (Q)/ because it has no
speed-gear and functioning noise (P)./”
a) QRPS b) PQSR | ¢) RQPS | d) QRSP | QRSP
17 | ‘To fall out’ means: b
a) To remove b) To quarrel c) To close d) To collapse To quarrel




18 | ‘Toll and moll’ means: d
a) Worthless b) Difficult c¢) Confusion d) Hard Hard Labour
Labour
19 | Choose the correct option:
A. Lucent and lustrous means the same. c
B. Idle talk and tittle tattle does not mean the same.
C. Brains and Sagacity can be called as synonyms.
a) Bistruebut A | b) A & B are c)A & C are |d)Aistruebut| A& Care
& C are false true but C is true but B is | B & Care false | true but B is
false false false
20 | ‘Insight’ does not mean: a
a) Taunt b) Acumen c¢) Nous d) Rationality Taunt
21 | Mode is an appropriate measure for: a
a) Nominal Data | b) Ordinal Data | ¢) Parametric | d) Ratio Data Nominal
Data Only Data
22 | When the centre of gravity of a sample is desired, the useful measure
of central tendency is: ¢
a) Geometric | b) Harmonic |c) Arithmetic | d) Combined | Arithmetic
Mean Mean Mean Mean Mean
23 | Which of the following is not true?
A. Mode is positional average and is not affected by the extreme
scores.
B. If the Mean of the distribution is more than the Median, the b
distribution of the scores is pulled off to the left.
C. If the Mode is more than Median, the distribution of scores is pulled
off to the left.
D. If the Mean is less than Median, then distribution is skewed.
a) Aonly | b)Bonly |c)BothC&D |d)BothA&B B only
24 | Measure of Dispersion that is large indicates: b
a) Mean, Median | b)Mean, c)Mean, d)Mean, Mean,
and Mode are | Median and | Median  and | Median and | Median and
meaningful Mode are less | Mode are more | Mode are not | Mode are less
meaningful meaningful needed meaningful
25 | For ungrouped data, the graphical representation of data is: a
a) Pie Graph b) Frequency | c) Ogive d) Histogram Pic Graph
Polygon
26 | Which of the following statement is incorrect about qualitative
research? a
a) Qualitative b) Qualitative | ¢) Qualitative | d) Qualitative
research research deals | research research
generates with requires includes  the o
. . . Qualitative
hypotheses. ethnographic outsourcing coding of data
observation and | agencies  for | and production research
informal data collection | of verbal generates
. . ) . | hypotheses
interviews. synthesis  in

data collection




27

Scientific enquiry in educational research involves:

d
a) Objectivity b) c) Empiricism |d) All the
Parsimonious above All the above
Explanation
28 | Which of the following type of research focuses on investigation of
existing phenomenon?
(A) Descriptive Research
(B) Action Research e
(C) Historical Research
(D) Experimental Research
a) A and B b) A and D only c)AandConly |d) B and C Aand B only
only only
29 | Match List -I with List II
List-1 List
A Single Variable Design | I.  Random Assignment of
Subjects
B. True Experimental | ii. Adequate control over the a
Design subjects
C. Quasi-Experimental 1il. One manipulated
Design independent Variable
D. Factorial Designs iv. More than one Independent
Variable Used
a) A-iii, B-i,C- | b) A-ii, B-iv, C- | ¢) A-ii, B-i, C- | d) A-iv, B-ii, | A-iii, B-i,C-
ii, D-iv i, D-iii iii, D-iv C-i, D-iii, ii, D-iv
30 | The concept of randomness:
A. Based on the assumption that while individual events cannot be
predicted with accuracy
B. Selecting a Group for observation who are representative of the d
population.
C. Equating experimental and control groups in an experiments
D. Each one is having equal chance to be selected
Choose the Correct answer from the option given below
a) A only b) A and B ¢)A, B,C Only | d)A,B,C,D AB.CD
only
31 | Which is not related to principle of experimental design? c
a) Replication b) o ¢) Regulation | d) Control Regulation
Randomization
32 | The name of Stephen M Corey is associated with: b
a) Fundamental | b) Action c¢) Experimenta | d) Correlation Action
Research Research 1 Research al Research Research
33 | In conducting action research, the sampling process is: .
a) Simple | b) Sequential | c) Purposive | d) Quota | Purposive
random sampling in | sampling  in | sampling in | sampling in
nature nature nature nature
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sampling in

nature

34 | Match list-I with list -II
A. Reflective fieldnotes 1. Quantitative Data
B. Observation ii. Quantitative Data ¢
C. Questionnaire i11. Qualitative Data
D. Tests iv. Qualitative Data
a) A-iii, B- 1,C- | b) A- iii, B-iv, | ¢) A-iv, B-iii, | d) A -iii,, B-iv, | A-iv, B-iii, C-
ii, D-iv C- ii, D-,iii C-ii, D-i C-,i,D-ii ii, D-i
35 | Which of the following is an anti-plagiarism software used in detecting
the percentage of plagiarism in academic writing and research? 2
a Drill Bit c e- | d) CARE T
) b) Sodhganga S)o dhsindhu ) Drill Bit
36 | When a researcher includes in his sample those individuals who are
- : . A d
willingly available, the sampling technique is called as:
a) Simple b) Quqta c) Snoyv Ball | d) Incifiental Incidental
Random Sampling Sampling Sampling .
} Sampling
Sampling
37 | In an ethnographical study which of the following technique is most .
appropriate?
a)Psychological b)Questionnair | c)Observation | d)Sociometry Observation
Testing e
38 | What is the measurement used for quantifying the quality of journal? | a
a)lmpact factor | b) H-index ¢) 110 index d) 120 index Impact factor
39 | Which of the following is considered as a primary source of b
information?
a) Books b) Field c) Websites d) Field Notes
Notes Encyclopedias
40 | Which of the following constitutes a violation of research ethics? b
a) Obtainin | b) Fabricat | ¢c)Conducting | d)Acknowledg | Fabricating
g informed ing research thorough ing all sources | research data
consent from data to support | literature properly in to support
research desired reviews before | research desired
participants outcomes starting publications outcomes
research
41 | What does the term "conflict of interest" refer to in research ethics? b
a) Disagreement | b) Financial or | c) Ethical d) Challenges | Financial or
s between personal dilemmas in recruiting personal
research team interests that encountered participants interests that
members may bias during data for research may bias
research collection studies research
outcomes outcomes
42 | Which of the following best describes plagiarism? b
a) Properly b) Rewriting c¢) Using d) Rewriting
citing sources in | someone else's | information Collaborating | someone
your research work with from multiple | with others on | else's work
papers minor changes | sources and a research with minor
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and presenting

integrating

project and

changes and

it as your own | them into your | acknowledgin | presenting it
own work with | g their as your own
proper contributions
attribution
43 | Which term is associated with the quantitative analysis of scientific d
literature?
1) Bibliography
2) Paleontology
3) Sociology
4) Scientometrics
a) 1 and 2 b) 2 Only c)3and 4 d) 4 Only Scientometric
s
44 | What is an open data repository? b
a) A closed b) A searchable | c¢) A physical d) A platform | A searchable
platform for database that storage facility | only database that
storing sensitive | provides access | for accessible to provides
data to freely confidential paid access to
available data | information subscribers freely
available data
45 | Which of the following best describes as "salami slicing" in the b
context of research?
a) A technique b) Dividing a c) A strategy d) Sharing Dividing a
for slicing research for enhancing | research research
vegetables ina | project into data findings with | project into
laboratory smaller, visualization colleagues smaller,
setting publishable techniques before publishable
parts to publication parts to
maximize maximize
publication publication
count count
46 | What Al technique is utilized in adaptive learning systems? Answer
1. Genetic Algorithms option
2. Reinforcement Learning (a,b,c or d)
3. Fuzzy Logic
4. Neural Networks
a) 1 and 2 b) 3 Only c) 1l and 4 d) 4 Only D
47 | “Altmetric” is primarily used for? c
a) Measuring b) Creating c¢) Calculating | d) Evaluating | Calculating
the impact of multiple-choice | online critical online
research articles | questions attention thinking skills | attention
received by received by
articles articles
48 | 1. Which of the following is NOT a research metric? c
1. H-index
2. Journal Impact Factor




3. BMI

4. Altmetrics
a) 2 Only b) 1 Only ¢) 3 Only d)2 and 4 BMI
49 | The American Educational Research Journal is known for publishing | b
articles related to which aspect of education?
a) Educational b) Educational | ¢) Educational | d) Educational | Educational
technology policy neuroscience economics policy
50 | What is the primary purpose of measuring journal metrics and author | b
impact?
a) To determine | b) To assess the | ¢) To identify | d) To calculate | To assess the
the subscription | quality and the number of | the revenue quality and
fees for journals | influence of articles written | generated influence of
scholarly by an author from journal scholarly
publications sales publications
51 | Which of the following is false?
A. If the sampling is random and the samples are large enough,
variance of the Mean should be moderated.
B. Variance can be classified as systematic variance and error variance. c
C. There is no way to determine the relations among variables without
variance.
D. Error variance can be called as random variance.
a) C only b) BothB& D | c)A only d) BothA & D A only
52 | Which of the following is not true?
A. Moderating variable affects the strength or direction of the
relationship between independent variable and dependent variable. b
B. Variable can be a construct or operationalized construct.
C. Intervening variable is philosophical in nature.
D. Variable is a condition, factor or quality.
a) B only b) C only c) BothB& C | d)BothA&C C only
53 | Which of the following is not related to kinds of triangulation?
A. Combined levels of triangulation
B. Methodical triangulation a
C. Practical triangulation
D. Theoretical triangulation
a) C only b) D only c) BothA & D | d)Both A &C C only
54 | Credibility of data is a part of: b
a)External b) Internal | ¢)  Construct | d) Criterion- Internal
validity validity validity related validity validity
55 | Match the following:
A. Nominal Data 1 True Zero Point
B. Ordinal Data i1 Equal Units b
C. Interval Data 111 Ranking
D. Ratio Data iv Counting




a)A-i, B-iv, C-ii, | b) A-iv, B-iii, | ¢)A-i, B-ii, C- | d)A-iv, B-ii, C- | A-iv, B-iii, C-
D-iii C-ii, D-1 iii, D-iv iii, D-i ii, D-i
56 | Which of the following is true?
A. ‘B’ is aratio of the variance of the variables and the variance of the
one from which prediction is made in the equation of Y=A+BX.
B. ‘B’ is a ratio of the covariance of the variables and the variance of
the one from which prediction is made in the equation of Y=A+BX. a
C. ‘B’ is a ratio of the covariance of the variable and the co-variance
of the one from which prediction is made in the equation of Y=A+BX.
D. ‘B’ is aratio of variance of the variables and co-variance of the one
from which prediction is made in the equation of Y=A+BX.
a) B only ‘ b) C only ‘ c) BothB & D ‘ d)Both A& D B only
57 | Choose the correct option:
A. Quantitative data are based on scales of measurement.
B. Quantitative data are classified as parametric or non-parametric. b
C. Parametric data can be added or subtracted.
D. Non-parametric data can be counted or ranked.
a) A, B & D are b)A,B,C & D 9) C& D are Q)B&Dare A,B,C&D
correct incorrect incorrect are correct
are correct
58 | Convenience Sample is: Cc
a)Dimensional | b)Purposive c) Accidental | d)Theoretical Accidental
59 | In empirical evidence of research, the most useful research activity is: b
a) Determination | b) Verification | ¢) Generability | d) Following | Verification
by  prediction | by observation | by deductive | the principle of by
and control and direct | and inductive | parsimony observation
experience approach and direct
experience
60 | Correlation is used to measure the: a
a) Size and | a) Size of linear | a) Direction of | a) Magnitude Size and
direction of | relationship linear of linear | direction of
linear between  two | relationship relationship linear
relationship variables between two | between two | relationship
between two variables variables between two
variables variables
61 | Critical pedagogy is about teaching students to think : a
a) Critically b) . c¢) Logically d)None of the Critically
Systematically above
62 | Which one of the following is not the principle of self - directed .
learning:
a) Being ready to . c) Engaging in | d) Evaluating | Engaging in
learn, b) Se‘ttlng the  teaching | learning the teaching
learning goals
process process
63 | Given below are two statements, one labeled as Assertion(A) and the
other labeled as Reason (R) Following are the codes given below,
choose the correct code.
Assertion (A): Assessment helps in decision making skill. c

Reason (R): Assessment is done in once a year
Codes
A. Both A and R are true and R is the correct explanation of A
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B. Both A and R are true, But R is not the correct explanation of
A
C. Both A and R are false
D. A is false, but R is true
a)A b) B c)C d)D Both A and R
are false
64 | Match the following:
A. Placement 1. Mastered the topics in the unit
B. Formative ii. Measure student progress a
C. Diagnostic 1ii. Place students into a course
D. Summative iv. Identify learning gaps
a) A —iii b)A—i c) A—iv d)A-i b) A—iii
B—ii B-iv B—ii B —iii B —ii
C-iv C —iii C-1i C—iv C—-iv
D-i D -ii D --iii D --ii D-i
65 | How many levels of motor skills recommended by Dave? b
a) 2 | b)3 | c) 4 [ d)5 3
66 | Simulated Social Skill Training is coined by : d
a E.L. | b) Morrison ¢) Norman A | d)Cruik Shank .
T)horndike : C)rowder : Cruik Shank
67 | In which Journal, students are required to record feelings and thoughts d
with minimal direction:
a) Predatory b ) Reflective ©) Structured ?J)ns tructured Unstructured
68 | The measure of stability in reliability is established in: a
a) Test- b) Split- c) Parallel | d) Kuder- | Test-Retest
Retest Method half Method Form Method | Richardson Method
Method
69 | Which one of the following statements is True?
A. Louise Thurstone contributed in framing the concept of attitude
measurement
B. Bi-polar scale is used in rating scale ¢
C. Summative rating scale in semantic differential scale
D. Physical means cognitive domain
a) summative | b) Physical c¢) Louise d) Bi-polar Louise
rating scale in | means Thurstone scale isused in | Thurstone
semantic cognitive contributed in | rating scale contributed in
differential scale | domain framing  the framing the
concept of concept of
attitude attitude
measurement measurement
70 | An analytical rubric is used when: d
a) You want | b) You C) You d) All of
to see relative | want detailed | want to assess | the above
: All of the
strength and | feedback complicated
. above
weakness skills and
products
71 | REBT stands for: a
a) Rational | b) Rational | c) Reasoning | d) Reasoning Rational
Emotive Emotional Emotional Emotive Emotive
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Behavior Behaviour Behaviour Behaviour Behavior
Therapy Technique Therapy Technique Therapy
72 | Who developed REBT? b
a) Frank Parsons | b) Albert Ellis | ¢) Clifford | d) J.B. Davis Albert Ellis
Beers
73 | Any counselling theory or practice that incorporates and combines
doctrines, findings and techniques selected from diverse theoretical c
systems is termed as:
a) Non-directive | b) Directive | ¢) Eclectic | d) Vocational Eclectic
counselling counselling counselling counselling counselling
74 | ‘Constructivist approach’ is the outcome of: c
a) Social b) Cognitive | c¢) Behaviourist | d) Bothaand b | Behaviouristi
psychology psychology | ic psychology ¢ psychology
75 | The word Hygiene is derived from Hygeia which means: a
a) Name of | b) Name | C) Name | d) None Name of a
a Greek goddess of a place of a person of these Greek
goddess
76 | Which of the following is not a component of Emotional Intelligence a
as described by Mayer and Salovey?
1.The ability to use emotions to facilitate thinking.
2.The ability to perceive, appraise and express emotions accurately.
3.The ability to perceive, appraise and express emotions accurately.
4. The ability to adapt to new and different contexts and effectively
shape one’s environment to suit one’s needs.
a) 4only |b)land4 [c)12and4 [ d)1,3and 4 4 only
77 | At birth the neonate has: d
a)Specific b)No emotional | ¢) No feeling d) No specific | No specific
emotion experience emotion emotion
78 | The theory of “Psychosexual development of children was advanced d
by;
a) Carl Jung b)Alfred Adler | c)Piaget d)Sigmund Sigmund
Freud Freud
79 | Torrance test is associated with: b
a) Intelligence b) Creativity | c) Personality | d) Interest Creativity
80 | Match the pairs: c
List — I (Concept) List — II (Theorists
a. Shaping and chaining | 1. Tolman
b. Law of effect 2. Skinner
C. Cognitive map 3. Bandura
d. Modeling 4. Thorndike
abcd
(A)1342
B)2314
(©)2413
(D)3421
a)l342 b)2314 c)2413 d)3421 2413
81 | The greatest contribution of Idealism in Education is towards: c
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a) Methodology of Teaching
b) Curriculum

c) Aims and Objectives

d) Teachers’ role in Education

a) Methodology | b) Curriculum
of Teaching

¢) Aims and
Objectives

d) Teachers’
role in
Education

Aims and
Objectives

82

Equality of Educational opportunity does not mean:

A. The right of each child to receive an education suited to its
character and abilities

B. Providing opportunity for education to only those who can
afford for it.

C. Equal opportunities for all children to reveal differences.

D. All children must have equal chance of showing that they can
equally profit by education irrespective of advantages and
disadvantages of birth

Choose the correct answer from the options given below:

a) Aonly |b)Bonly | ©)A,B,C Only | d)A,B,C,D

B only

83

Match list-I with list -11
list-I
A. Sankhya
B. Vedas
C. Vedanta
D. Advaita Vedanta theory of
Liberation

list -1I
1. Akasa and Prana
11. Brahmasutra
i11. Duality of existence
iv. Creation 18 without
beginning and without an end

a) A-ifi, B-iv, C- | b) A B- iii, C- | ¢)A-iv, B- iil, | d)A -iii, B-iv,
i, D-ii iv, D-ii C-ii, D-i C-iii , D-i

A-iii, B-iv,
C-1, D-11

84

The value conflicts in the minds of school children are many a time
created by:

C

a) Maladjusted
Teachers

b) Unruly
Students

c) Conflicting
Value Systems
of the home
and the school

d) Conflicting
laws of the
society

Conflicting
Value
Systems of
the home and
the school

85

Which philosophy says “Do not care to know various theories about
God Soul; do good and be good that will take you to whatever truth
there is “?

C

a) Sankhya | b) Vedanta | ¢) Buddhism | d) Jainism

Buddhism

86

Assertion(A): Sometimes cultural change results into social change
while another time social change leads to cultural change.
Reason(R): Culture is social in its origin, meaning and usage

In the light of the above statements, choose the most appropriate
answer from the options given below.
1. Both (A) and (R) are true and (R)) is the true explanation of
(A).
2. Both (A) and (R) are true and (R)) is not the true explanation
of (A).
3. (A) is true but (R) is False.
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4, (B) is false but (R) is true

a) 1 only b) 2 only 3 only d) 4 only 2 only
87 | Existentialism provides an idea to the curriculum makers that: c
a) Knowledge is ‘p) Know?edge ,C) Kngwledge fi) Knowledge Knowledge is
absolute is cumulative is choice- is external !
making and reality ch01'ce-
diversification makmg apd
diversificatio
n
88 | Swami Vivekananda ‘s Philosophy of education ia a reflection of his
general philosophy of life.
A. Vivekananda believed that education is the manifestation of
divine ine perfection already existing in man.
B. Education is not the amount of information put into one ‘brain, d
which may lie undigested all one’s life.
C. Education must make a man conscious of his hidden powers.
D. Character is the aggregate of a man’s tendencies and sum total
of the bent of mind.
Choose the correct answer from the options given below:
b) A only ‘ b) B only ‘ c¢) A,B,C Only ‘ d)A,B,C,D A,B,C.D
89 | Who said, “School is a testing laboratory where conditions and norms
of the society are being tested”? a
a) John Dewey | b) William | ¢) M.K.Gandhi | d) R,N. Tagore John Dewey
Parker
90 | Assertion(A): The world according Islam is not the world of chance,
it was created in perfect condition.
Reason(R): Thus, everything that exists does so in a measure proper
to it and fulfils a certain universal purpose.
In the light of the above statements, choose the most appropriate
answer from the options given below.
(1) Both (A) and (R) are true and (R)) is the true explanation of a
(A).
(2) Both (A) and (R) are true and (R)) is not the true explanation
of (A).
(3) (A) is true but (R) is False.
(4) (A) is false but (R) is true.
a) 1 only b) 2 only ¢) 3 ony d) 4 only 1 only
91 | Existentialism provides an idea to the curriculum makers that: c
a) Knowledge is b) Knowledge 9) Knowledge Q) Knowledge Knoyvledge is
absolute s cumulative is Choice | is external | Choice
Making reality Making
92 | Which of the following are the elements of Curriculum?
(1) Objectives
(2) Learner

(3)) Evaluation
(4) Knowledge
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Choose the correct answer from the options given below:

a) 1 and 2 b)2 and 3 only c)3 and 4 only | d)1 and 3 only

1 and 3 only

only
93 | Assertion(A): Vertical Design of Curriculum centers on the concepts
of sequence and continuity
Reason(R): Vertical Design of Curriculum is concerned with
longitudinal placement of curriculum of elements.
In the light of the above statements, choose the most appropriate
answer from the options given below. b
(5) Both (A) and (R) are true and (R)) is the true explanation of
(A).
(6) Both (A) and (R) are true and (R)) is not the true explanation
of (A).
(7) (A)is true but (R) is False.
(8) (A) is false but ( R) is true
a) 1 only b) 2 only c) 3 only d) 4 only 2 only
94 | Inthe two sets given below Set-I indicates the Curriculum evaluation
models, while the set -II Provides the name of the proponents of
advocacy of the respective models. Match the two sets and indicate
your answer by choosing from the code: MatchType Questions here
for matching pairs:
Set-1 Set-11
(A)Responsive Evaluation | (i) Parlett and Hamilton
Model a
(B)Illuminative Evaluation | (i1)Daniel Stufflebeam
Model
(C)Portraiture Model (ii1) Robert Stake
(D)Context , Input and Product | (iv)Sara Lawrence Lightfoot
Model
a) A- iii, B-1,C- | b) A-iv,B-iii,C- | ¢) A-ii,B-iv, C- | d) A-iii, B-ii. | A- iii, B-1,C-
iv, D-ii 1,D- ii iii, D-i C-iv, D-i iv, D-ii
95 | “The principle of sequence” in curriculum development is referred as: a
a) Vertical | b) Horizontal | c) Both | d) Content | Vertical
relationship in relationship in | Vertical  and | Analysis  in | relationship
curricular areas | curricular areas | Horizontal Curriculum in
Relationship in curricular
curricular areas areas
96 | The Tyler Model of curriculum design is called as:
(1) Administrative Model
(2) Grass -root Model b

(3) Teacher Centric Model
(4) Line Staff Model
Choose the correct answer from the options given below:
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C The political contexts of a country.
D The social contexts of a country
Choose the correct answer from the options given below:

a) (1) and| b)(l)and(4 |c) (2) and (4) [ d)(3) and(3) |( 1) and 4
(3)only )only only only only
97 | Which of the following book was written by R.H. Tyler in 1949? b
a) The b) Basic | ¢)  Teaching | d) Curriculum | Basic
curriculum principles  of | learning as field of | principles of
curriculum and | process study curriculum
instruction and and
instruction
98 | The NEP-2020 has recommended for incorporation of: d
a)Multidisciplin | b) Liberal Arts | ¢) Holistic | d)All of the
ary Approach of | in the Realm of | Education Above All of the
Curriculum Learning Above
Design
99 | The 5-E Model Constructivist curriculum approach focuses on a
a) Engage, | b) Engage, | ¢) Engage, | d) Engage, Engage,
Explain, Explain, Explain, Explain, Explain,
Explore, Explore, Elicit | Explore, Enumerate, Explore,
Elaborate  and | and Evaluate Elaborate and | Elaborate and | Elaborate and
Evaluate Extend Evaluate Evaluate
10 | Match the list I with List II:
0
List I List II
A National Policy on 2009
Education
B. Yashpal Committee 1986 a
Report
C. Justice Verma 2020
Committee Report
D. National Education 2012
Policy
a) A-2,B-1,C-4, | b) A-3, B-2, C- | ¢)A-1, B-4, C- | d)A-4, B-1, C- | A-2,B-1, C-4,
D-3 1, D-4 2, D-3 3,D-2 D-3
10 | Match the list I with List II:
1 List I List I1
A. Cost  Analysis in | 1. Multipurpose  Secondary
Education School
B. National Policy on | 2. National Curriculum c
Education Framework
C. Mudaliar Commission | 3. 10+2+3 Pattern of
Education
D. NCERT 4. Teacher Salaries
a)A-1, B-2, C-4, | b)A-1, B-2, C- | ¢) A4, B-3,C- | d) A-3,B-4,C- | A4, B-3, C-
D-3 3,D-4 1, D-2 2, D-1 1, D-2
10 | During the analysis of existing situations for the formulation of the
2 | country’s educational policy, the educational planners consider:
A Geography of a state
B The issues of a state. b
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a) A and B Only c)A and C|d)B and D

b) C and D only only only

C and D only

The Education Policy Cycle includes:

A. Analysis of the existing situation

B. Generation of policy documents

C. Evaluation of the planners efficiency

D. Evaluation of educational planners’ commitment
Choose the correct answer from the options given below:

a) B and C only c)AandConly |d) B and D

b) A and B only only

A and B only

A Economics of education is a specialized branch of study that applies
the principles and theories of economics to the field of education.

B The nature of economics of education is varied.

C Economics of education is interdisciplinary in nature.

D The subjects matters of economics of education are drawn from both
the economics and education disciplines.

Choose the correct answer from the options given below:

a).C,B,A,D b.A.C.B.D c.A,B,D,C d.A,B,C,D

A,B,C,.D

To make a meaningful paragraph:

A. The Kothari Commission was one of the commissions
appointed during the post-independence period.

B. Education plays an important role in the country’s
development.

C. After independence, the government of India appointed many
educational commissions to change the country’s landscape.

D. The commission’s prime focus was educational reform.

Choose the correct answer from the options given below:

a) B,C.A,D b) BACD ¢)B,A,D,C d)C,A,BD

B,C,A,.D

Match the list I with List II:

List I List IT

A. PwD ACT(1995) Section | 1.Defines “blindness” under the Act
2(1)

B. PwD ACT(1995) Section | 2.Defines “hearing impairment” under
2(b) the Act

C. PwD ACT(1995) Section | 3.Defines “mental illness” under the
2(1) Act

D. PwD ACT(1995) Section | 4.Defines “disabilities” under the Act
2(q)

a)A-3,B-2,C- b)A-4,B-1,C- ¢)A-1,B-2,C- d)A-2,B-1,C-
1,D-4 2,D-3 3,D-4 4,D-3

A-4.B-1,C-
2.D-3

According to the Persons with Disabilities (Equal Opportunities,
Protection of Rights and Full Participation) Act 1995, ‘disability’
means:
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A. Blindness

B. Low vision

C. Hearing impairment

D. Mental retardation

Choose the correct answer from the options given below:

a) A and B only c)B, D, and A | d) A,B,C, and

only D

b) A and C only

A,B,C, and D

Assistive technology for diverse learners include:

A. Screen readers

B. Text-to Speech Software

C. Braille Keyboards

D. Speech Recognition software

Choose the correct answer from the option given below:

a)B and D only C) AB,C, and | D)A, B,and D

b) A and D only D only

A,B,C,and D

In an inclusive classroom, which of the following statements are true:

A. Inclusive classroom promotes diversity and respect for all children
B. Inclusive classroom segregates students based on abilities for
effective instruction
C. Inclusive classroom regards individualized learning needs
D. Inclusive classroom prioritizes exclusion of certain students

Choose the correct answer from the options given below:

a)Aand C ¢c) AB, and D | d) A,B,C, and

b) A and B only only D

Aand C

To make a meaningful paragraph:

A. The framework promotes integrated learning, critical thinking, and
active engagement.

B. The National Curriculum Framework for School Education
(NCFSE) 2005 provides guidelines for school education in India.

C. It emphasizes holistic development, encompassing cognitive,
emotional, and social aspects.

D. NCFSE (2005) aims for equitable education, fostering inclusivity
and lifelong learning.

Choose the correct answer from the options given below:

a) A,B,C,D |[b)CDAB  |[¢)BCAD [d)BADC

B,C,A,D

Which learning approach combines online and face-to-face learning
methods?

a) Synchronous | b) c)Blended d)Mobile
learning Asynchronous | learning learning
learning

Blended
learning

Which instructional design model incorporates nine instructional
events?

C
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Justification (B): OERs are freely available and can be legally used and

shared by anyone.

a) ADDIE | b)ASSURE c)Gagne’s d) Mason’s Gagne’s
Model Model Model Model Model
11 | What does CAI stand for in the context of educational technology? a
3
a)  Computer- | b)Cognitive- c)Collaborativ | d) Computer-
Assisted Aided e-Assisted Comprehensiv | Assisted
Instruction Instruction Instruction e Assessment | Instruction
Instruction
11 | Match the learning theory with the theorist: a
4 A. Behaviourist Theory i. Piaget
B. Cognitive Theory ii. Skinner
C. Constructivist Theory iii. Vygotsky
D. Socio-Cultural Theory iv. Bruner
a) A-2 b) A-1 C)A-3 d)A-4 A-2
B-1 B-4 B-1 B-2 B-1
C-4 C-2 C-4 C-1 C-4
D-3 D-3 D-2 D-3 D-3
11 | Match the type of evaluation tool with its purpose d
5
A. E-portfolio i) Real-time assessment through quizzes and
tests
B. Online if) Collecting feedback and data from
Surveys participants
C. Test iii) Creating custom assessments and tests
Generators online
D. Formative
Assessment iv) Tracking and showcasing students'
Tools progress and achievements
a) A-2 b) A-1 c) A-3 d) A-4 A-4
B-1 B-4 B-2 B-2 B-2
C-3 C-2 C-1 C-3 C-3
D-4 D-3 D-4 D-1 D-1
11 | Assertion (A): Constructivist theories emphasize active learner c
6 | engagement.
Justification (B): Constructivist theories view learners as passive
recipients of information.
a) Ais true, B is | b) Aistrue, Bis | ¢) A is true, B | d) A is false, B | Ais true, B is
true and B is the | true but B is not | is false is true false
correct the correct
explanation of A | explanation of
A
11 | Assertion (A): Open Educational Resources (OER) reduce the cost of a
7 | educational materials for students.
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a) A is true, B is
true and B is the

b) b) A is true,
B is true but B

c) A is true, B
is false

d) A is false, B
is true

A s true, B is
true and B is

B. To get entry into teaching profession
C. To take extra tuition by visiting different coaching centres.

correct is not the the correct
explanation of A | correct explanation
explanation of of A
A
11 | Assertion (A): Instructional technology is only applicable in formal d
8 | education settings.
Justification (B): Instructional technology is designed to be flexible
and can be adapted to various educational contexts.
a) Ais true, Bis | b)Aistrue,Bis | c) A is true, B | d) Ais false, B | Ais false, B
true and B is the | true but B is not | is false is true is true
correct the correct
explanation of A | explanation of
A
11 | Which model of instructional design follows the sequence: Analyse, c
9 | Design, Develop, Implement, Evaluate?
a) ASSURE | b) Dick and | c)ADDIE d)Mason's ADDIE
Model Carey Model Model Model Model
12 | Assertion (A): The use of video conferencing in education ensures b
0 | higher student engagement.
Justification (B): Video conferencing allows for real-time interaction
between teachers and students
a) Ais true, B is | b) Aistrue, Bis | ¢) A is true, B | d) A is false, B | Ais true, B is
true and B is the | true but B is not | is false is true true but B is
correct the correct not the
explanation of A | explanation of correct
A explanation
of A
12 | National Council for Teacher Education is headed by: c
1
a) Director b) Manager c¢) Chairperson | d) Principal Chairperson
12 | Master of Education (M.Ed.) programme has been increased to two
2 | years by NCTE in the year? c
a) 2016 | b)2017  [c¢)2014 | d) 2015 2014
12 | What does UEE in Shiksha Abhiyan stand for? b
3
a) Uniform | b)Universalisat | c)Universalisat | d) Unity of | Universalisati
Elementary ion of | ion of Essential | Elementary of on of
Education Elementary Education Education. Elementary
Education. Education.
12 | Why is the professional development of teachers required?
4 | A. To expand the knowledge domains of the subject. b
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D. Due to changing pedagogy.
E. To compete other competitive examinations.
Choose the correct answer from the options given below:

a) C, D,and E|b) A, and D |c) AC, and E | d) B, C, and E A, and D
only only only only only
12 | What are the challenges faced by In-Service Teachers during covid-19
5 | period?
A. Hands-on- teaching was not possible.
B. Teaching instruments were quite available. b
C. Slow learners were highly benefited.
D. Have to learn new software packages.
Choose the correct answer from the options given below:
a) C, D,and A|b) A, and D |c) A,C, and D | d) B, C, and D A, and D
only only only only only
12 | Match the following pairs:
6 List | List II
A. Problem -based 1. Habit of sharing with colleagues
B. Collaborative ii. Main focus of study is problem
learning b
C. Experience based | iii. Programme are develop to sensitize
learning social feeling among learners
D. Community based | iv. Teacher are expected to use role
learning play, field trip
a) A-iii, B-i, C- | b) A-ii, B-i, C- | ¢) A-ii, B-iv, C- | d) A-i, B-iv, C- | A-ii, B-i, C-
iv, D-ii iv, D-iii i, D-iii iii, D-ii iv, D-iii
12 | Given below are two statements, one is lebelled as Assertion A and the
7 | other is labelled as Reason R
Assertion A: The teacher must take active part in educating the
learners. c
Reason R: The teacher is responsible for students eating habits.
In the light of the above statements, choose the most appropriate
answer from the options given below
a) Both Aand R | b)BothAandR | c¢) A is correct | d) A is not
are correct and R | are correct and | but R is not | correct but R is .
is the correct | R 1s not the | correct. correct. Als cgrrect
) but R is not
explanation  of | correct
. correct.
A. explanation of
A.
12 | The internship Programme in pre - service teacher education is conduct b
8 | for:
a) Specific | b)The Teacher | ¢)The teacher | d)The Primary | The Teacher
subject teachers. | Trainees in the | educators  in | school Trainees in
training the training | teachers the training
programme institutions. programme
12 | In pre-service teacher education, programme which of the following
9 | components give maximum exposure for experiential learning? d
a) Maximum | b) Conduct c¢) Conducting | d) Internship .
classes in | seminar in brainstorming | through school Internship
. . through
pedagogy papers session during | attachment.
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foundation pedagogy school
course classes attachment.
13 | Assertion (A): In teaching, there is a critical and creative interchanges
0 | between teacher and learner unlike ‘instruction’ and ‘training’.
Reason (R): ‘Instruction’ and ‘training’ deals with the lower order
cognitive interchanges. a
In the light of the above statements, choose the most appropriate
answer from the options given below:
a) Both A and R | b)BothAandR | c) A is correct | d) A is not | Both Aand R
are correct and R | are correct and | but R is not | correctbut Ris | are correct
is the correct| R is not the | correct. correct. and R is the
explanation of | correct correct
A. explanation of explanation
A. of A.
13 | The central theme to ‘administration’ is: ¢)
1
a) Coordination | b) Communicat | ¢) Decision d) Organizatio Decision
ion making n making
13 | “Management means, the use of people and other resources to d)
2 | accomplish objectives” is the statement given by:
a) Terry b) W.M.Ryburn | ¢) Krutz and | d) J.B.Sears J.B.Sears
Boone
13 | Which statements are true for Educational Leadership to ensure quality
3 | in education:
A. Educational leadership creates a vision of academic success for
all students. d)
B. It strives to maintain a safe receptive learning environment.
C. Educational  leadership  delegates  responsibility to
stakeholders.
D. Instructional methods and curriculum content must be
continually improved.
a) A, B and ¢)B, C and D | d) All the
C only gzﬂA , € and D only Above All the
M Above
13 | The function of management is classified according to ‘Luther Gullik’: d)
4
a)POSDORBC | b) PODSCORB | ¢) d)
POSTCARD | POSDCORB POSDCORB
13 | ‘Poka-Yoke’ means: )
5
a) Fool proofing | b) Mistake c) Bothaand b | d) None of the | Both a and
proofing above b
13 | NAAC methodology for Assessment and Accreditation of general d)
6 | higher education institutions is an example of:
a) Quality | b) Quality ¢) Quality d) Quality Quality
inspection management control assurance assurance
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13 | Which of the following is a transformational act of leadership? d)
7 | I Assertion: Ability to Demotivate
II: Justification: The ability to strengthen one’s selfishness
a) Only I b) Both T and IT | ¢) Only II d) Neither 1| d) NeitherI
nor [I nor 11
13 | The main difference between education planning and education b)
8 | management is:
a) Both | b)  Education | ¢) Education d) None of the | Education
education planning planning Above planning
planning  and | focuses on | focuses on focuses on
education policy implementatio policy
management are | development, n, while development
same thing while education | education , while
management management education
focuses on | focuses on management
implementation | policy focuses on
development implementat
ion
13 | The major goals of the classroom management are: d)
9
a) Academic b) To create | c)  Effective | d) All of the
achievements positive instruction above All of the
. above
environment
14 | Which statements are true to the characteristics of Administration:
0 | A Administration emphasises on rules
B. Divisional of labour is highly visible b)
C. There is high irrationality in administration
D. Administration emphasises of efficiency
a) A,Band |b) A,Band D |c) B,Cand D |d)A,C and D| A,BandD
C only only only only only
14 | Which factors mostly influence organisational climate of an d)
1 | institution:
A. Organisational rules and regulations
B. Taking least challenges and risk in the work situation
C. Degree of tolerance in differing opinions
D. Working with cooperative and pleasant people
a) A,Band |b) A,Band D |c) B, Cand D | d)A,C and D| A,CandD
C only only only only only
14 | When was Rashtriya Madhyamik Shiksha Abhiyan (RMSA) a
2 | launched?
a) 2009 b)2012 ¢)2006 d)2008 2009
14 | Which theory emphasizes the role of reinforcement in learning? b
3
a) Cognitive b) Behaviourist | ¢) Constructivi | d) Humanistic | Behaviourist
Theory Theory st Theory Theory Theory
14 | Which of the following is not a barrier to inclusive education? d
4
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a) Lack of b) Discriminati | ¢) Teacher d) Equal Equal
accessible on and stigma | attitudes and | opportunities | opportunities
infrastructure towards training and support and support
and resources marginalized for all students | for all
groups students
14 | The emergence of a new education policy at a regular interval is
5 | required because of:
A Rapid digitalisation
B Climate change
C Change in Teachers b
D Change in students
Choose the correct answer from the options given below
e) A and C only f) Aand B only ggB and D | h)C and D |b)AandB
only only
14 | Which of the following do not fall under the primary sources of d
6 | funding for education at state level?
a) The central | b) The loans | ¢) The  state | d) The tuition | The tuition
government from financial | budgets. fee paid by the | fee paid by
grants. institutions. parents to | the parents to
educational educational
institutions institutions
14 | Which of the statements is not correct to the Kothari Commission? b
7
a) The b) The c) The d) The The
commission commission commission commission commission
didn’t was appointed | was appointed | was appointed | was
adequately in 1953-53. to evolve a|to provide | appointed in
address the general pattern | policies  and | 1953-53.
regional of education in | guidelines for
diversity and India. the
cultural varieties development
within India. of education in
India.
14 | Match list-I with list -II
8 list-1 list -11
A. Religious Education i.  Naturalism
B. Co-education 1. Pragmatism a
C. Learning by Doing iii. Idealism
D. Choice -Based Education iv. Existentialism
a) A-iii, B-i, C- | b) A-i B-iii, C- | ¢) A-iv, B- iii, | d) A -iii, B-iv, | A-iii, B-iv,
ii, D-iv iv, D-ii C-ii, D-1 C-iii, D-i C-i, D-ii
14 | The first Intelligence test was developed by: d)
9
a) Lewis Terman b) Albert C) David | d) Alfred Binet
Sidney Wechsler Alfred Binet
Beckham
15 | Use of ICT in classroom can enhance : d
0
a) Teaching b) Learning | c) Set | d) Both Both
skill induction (a) and (b) (a) and (b)
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